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Solve the problems. Round the answer to two decimal places.
1) Asmall candy factory uses 873.74 pounds of sugar in a month to make jelly candies. Assuming the
same amount is used every month, how much sugar will the factory use on an average to
make jelly beans in a year?
2)  Sophie visits the local store to buy canned tomatoes. Each can contains 14.5 ounces of tomatoes.
How many cans in all does Sophie buy, if canned tomatoes weigh 116 ounces at the counter?
3)  Cathy wants to han Gam complete access to the largest nches long rope and cuts
into 8 pieces of equllpg]lection of worksheets in all subjects!
4)  Thomas refuels his ‘0 pay, if one gallon of
gasoline costs $2.4
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5)  Melanie placed 5 packs of fruit squishies in a picnic basket. Find the total weight of all the packs,
if each pack weighs 15.75 ounces.
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